

International Journal of Science and Research Archive

eISSN: 2582-8185 Cross Ref DOI: 10.30574/ijsra Journal homepage: https://ijsra.net/



(RESEARCH ARTICLE)

Check for updates

Diversity of bryophilous fungi in desiccation-tolerance bryophyte plants

VENKATESAN GOVINDAN * and MAHALAKSHMI VENKATESAN

Research Department of Botany, Mannai Rajagopalaswami Government Arts College, Mannargudi- 614001, Tamil Nadu, India.

International Journal of Science and Research Archive, 2022, 07(02), 200-209

Publication history: Received on 05 October 2022; revised on 12 November 2022; accepted on 15 November 2022

Article DOI: https://doi.org/10.30574/ijsra.2022.7.2.0255

Abstract

Bryophilous fungi associated with two bryophyte species in the region of delta in Tamil Nadu that is, the mosses of *Polytrichum commune* and *Bryum capillare (Ptychostomum capillare)* mosses were studied during the winter season. These bryophytes were Desiccation-Tolerance Bryophytes plant (DTB), the ability to lose virtually all free intracellular water and then recover normal function upon rehydration is one of the most remarkable features of bryophytes. Our aims were to identify bryophilous fungi/ endophytic fungi using morphological taxonomy, to explore richness and estimate species frequency in two bryophytes, *Polytrichum* and *Bryum* in delta region of Tamil Nadu. We collected two bryophyte samples at old building wall, bricks localities on delta region. We thus identified 32 endophytic fungi species were isolated from these bryophyte plants tissues. In total, 32 endophytic fungal strains belonging to Ascomycetes (04), Coeleomycetes (02), Hyphomycetes (20), sterile forms (02), Yeast like strains (02) and Zygomycetes (02) taxa were obtained. Thus species RPO and diversity index suggest that our study still underestimate endophytes diversity because it does not provide complete samples. These results recommend the presence of a diverse range of fungal species even in a very limited area, and those bryophytes fungal diversity in this Desiccation-Tolerance environment. To our knowledge, this is the first report of endophytic fungi from DT Bryophytes in tropical region.

Keywords: Bryophyte; Bryophilous fungi; Desiccation-Tolerance; Ecology; Sere

1. Introduction

Fungal endophytes are a diverse group of fungal species that reside living plants at some time during their life cycle without causing apparent symptoms of infection (Wilson, 1995). Plants generally have multiple endophytes, and those may develop multiple endosymbiotic manners of the host. Endophytic fungi live within the healthy tissues of plants and can encourage host species tolerance to different environmental stresses. Bryophyte plants can be thrived in humid environments all over the world. Because they have no vascular tissue, they aren't able to take water from the soil and transport it to higher tissue. The Habitat of bryophyte occur in common on the forest floor, trees stem, rain forests, wetland ecosystems and at high altitudes and also Many bryophytes live in their urban life by establishing on areas such as bricks, driveways and cracks of surfaces. Phenotypic plasticity plants have appearing the ability of individual genotypes to produce different phenotypes when exposed to different environmental conditions (Pigliucci *et al.*, 2006). Some organisms have possibility to modify development and the ability of an individual organism to change its phenotypic state or activity in response to variations in environmental conditions (Garland and Kelly, 2006).

Most studies of fungal endophytes have focused on those species that live in vascular plants, but endophytes also live in nonvascular plants including bryophytes (i.e., mosses, liverworts, and hornworts). A great phylogenetic diversity of endophytes was found in the tissues of mosses and liverworts in boreal, temperate and tropical forests (Davis *et al.*, 2003; Davis and Shaw, 2008; Kauserud *et al.*, 2008). Associations between mosses and fungi were long thought to be

* Corresponding author: VENKATESAN GOVINDAN Research Department of Botany, Mannai Rajagopalaswami Government Arts College, Mannargudi- 614001, Tamil Nadu, India.

Copyright © 2022 Author(s) retain the copyright of this article. This article is published under the terms of the Creative Commons Attribution Liscense 4.0.

uncommon and rare (Grasso and Scheirer, 1981). Although interactions between bryophilous ascomycetes and bryophytes have been investigated by Döbbeler (1997), endophyte and bryophyte interactions have remained largely unstudied (Davey and Currah, 2006).

Vascular plants species (Arnold *et al.*, 2000, Suryanarayanan *et al.*, 2011), aquatic plants and algae (Smith *et al.*, 1989, Venkatesan and Suryanarayanan, 2014, Venkatesan and Rameshkumar *et al.*, 2021, mosses and ferns (Petrini *et al.*, 1992, Raviraja *et al.*, 1996) examined to date are found to be hosts for endophytic bacteria and fungi (Nisa *et al.*, 2015). Endophytic microorganisms have been isolated from different parts of plant-like leaf and roots, stem, bark, petiole (Hata and Sone, 2001; Venkatesan, 2013: Venkatesan and Sharavanan, 2022), differents forests (Suryanarayanan *et al.*, 2007, 2011) buds (Pirttilä *et al.*, 2008) and seeds (Panaccione *et al.*, 2014). In the past, mycological studies conducted in Antarctic regions have been generally restricted to soil (Boyd *et al.*, 1966; Bailey and Wynn-Williams, 1982) and only plants, mosses, and other organic substrates have been used as sources for the isolation of Antarctic microfungi (Pugh and Allsopp, 1982; Bradner *et al.*, 2007). To our knowledge, no reports on the endophytic fungal diversity associated with bryophytes in the delta region of Tamil Nadu are available. The aim of this study was to investigate the diversity, distribution, and adaptation of the endophytes fungi associated with two Desiccation-Tolerance Bryophytes species (the moss of *Polytrichum commune* and the moss of *Bryum capillare*) in the Delta region of Tamil Nadu.

2. Material and methods

2.1. Study Area

These plants were studied in the Delta region (Mannargudi in city) of Tamil Nadu during the period from October 2021 to January 2021 (wet season) and over May 2022 to August 2022 (dry season). The district receives rainfall under the effect of both southwest and northeast monsoon. The hot season lasts for 4.3 months, from April to August, with an average daily high temperature above 94 °F. The hottest month of the year in Mannargudi in Thiruvarur District is June, with an average high of 97 °F and low of 83 °F. The cool season lasts for 3.0 months, from November to February, with an average daily high temperature below 86 °F. The coldest month of the year in Mannargudi is January, with an average low of 74 °F and high of 83 °F.

2.2. Collection of Plants

These DT - bryophyte species of *Bryum capillare* Hedw. (*Ptychostomum capillare* (Hedw.) D.T.Holyoak & N. Pedersen) *Ptychostomum capillare, formerly designed as Bryum capillare* is Capillary Threat - moss belonging to the family Bryaceae and *Polytrichum commune* Hedw., moss of family Polytrichaceae were collected from Mannargudi in Thiruvarur district (10.6651'-10° 39' 54N, 79.4525-79° 27' 9E), Tamil Nadu, India. These plants were collected to wet season at least 1.5 month old. Economically important species are those in the genus *Polytrichum* and *Ptychostomum* that form like peat mosses. These species can frequently be found in wet season will grow on hedge banks, old building wall, bricks, and driveways localities. Typically they are in areas that moist and humid in sites that are somewhat shaded.

2.3. Sterilization, inoculation and statistical methods

Thallus samples were collected from these bryophytes. Randomly select mosses and their one hundred and fifty tissue segments were cut from these mosses. However, sterilization techniques were followed in before cutting these segments. They were processed within a few hours of collection. The plant is washed thoroughly with running water and then the whole plant has sterilized as followed. Surfaces sterilization of leaves like thallus bits of 0.5 cm² each were cut and surfaces sterilized by the method of Suryanarayanan *et al.*, 1998. The samples were washed in running water, dipped in 70% ethanol for 60 seconds, immersed in 4% NaOCI (Sodium Hypochlorite) for 60 seconds, and then washed in sterile water for 120 seconds. The sterilized samples were placed on PDA medium amended with an antibiotic contained in Petri dishes. Incubation, isolation, and identification of endophytes ten segments were placed on PDA medium contained in a Petri dish. The Petri dish was sealed with Parafilm[™] and incubated in a light chamber at 26+1 [°]C for 7 to 21 days (Bills and Polishook, 1992; Suryanarayanan, 1992). The light regimen given was 12 hours light followed by 12 hours darknesses. Fungi that grew from the segments were periodically observed and the endophytes were identified.



Figure 1 DT - Bryophyte plants grown on building walls, *A. Polytrichum* commune, *B. Polytrichum* commune dense growth, *C. Ptychostomum* capillare

- Colonization frequency CF% of endophyte species was calculated by the method of Hata and Futai (1995). CF%
 = Number of colonies/Total number of segments X 100. Where, N Colonies and N Total are the number of segments colonized by each endophyte and the total number segments observed respectively.
- Relative Percentage of Occurrence (RPO) of each group (viz. Ascomycetes, Coelomycetes, Hyphomycetes, Sterile forms, Yeast like forms and Zygomycetes) of fungal species in each plant species was calculated as follows: RPO = Total colonization frequency of one group/ Total colonization frequency for all the groups of fungi X 100.
- Simpson's Index was calculated for fungal species richness.

•
$$D = S \Sigma i = 1(ni/N)^2$$

Where;

ni is the number of individuals in species *i*,
N = total number of individuals of all species, *ni*/N= *pi* (proportion of individuals of species *i*),
S = species richness.

• Shannon – Weiner Index was calculated for fungal species evenness.

$$\mathbf{H'} = -\sum_{i=1}^{S} pi \ln pi$$

3. Results

These fungi taxonomically were found out 32 species belonging to 19 genera of fungi were isolated from both bryophyte plants. In total 28 fungal species were isolated from *Polytrichum commune*. All fungal species has the small-scale isolation rate. Hyphomycetes (17) were the abundant group followed by Ascomycetes (03), Coleomycetes (02), and Sterile forms (02), Yeast like forms (02) and remain 02 species of Zygomycetes (Tables 1, 2 and 3). While a total of 26 fungal species were isolated from *Ptychostomum capillare*. In this Hyphomycetes (17) were rich diverse group by than Ascomycetes (03), Coleomycetes (01), Sterile forms (2), Yeast like forms (2) and continue one species of Zygomycetes (Figure 1 and 2). In this results a small number of (Fewer) fungal colonies are observed but some fungal species like *Collectotrichum* sp., *Aspergillus flavus, Aspergillus niger, Fusarium oxysporum* and *Trichoderma* species are considered high frequency fungi due to slightly higher number (Table 1 and 2). Also, when we collected and examined the dried up moss/or soil like substrate form in places where the bryophytes grew, we found that the sere contained *Aspergillus* spp., *Cheatomium* sp., *Fusarium* sp, *Mucor* sp., *Trichoderma* sp., *Sordaria* sp., *Sporormiella* species etc. The dried - up moss study was carried out by Warcup and serial dilution method (Warcup, 1950). However, most studies have been of plants in humid habitats, and there are few reports of the advantages of such associations for plants of extreme environments.

Chaetomium globosum is a well-known saprophytic fungus that also reported to resides on plants endophytic, soil; dung (Li *et al.*, 2014). *Fusarium oxysporum* is commonly documented as a wild causing phytopathogen in some plants or a

nonpathogenic plant growth promoting endophyte of other plants (Minerdi *et al.*, 2008). Several studies have reported the presence of *Aspergillus* sp., *Cladosporium* sp., *Mucor* sp., *Trichoderma* sp., *Penicillium* sp., in multiple environments around the world, such as air, land, water, plants and animals. In addition, it can be found in inhospitable locations such as deserts, highly salty and soils contaminated by radioactivity (Hassegawa *et al.*, 2008; Huyan *et al.*, 2012; Ribeiro *et al.*, 2008; Sterflinger *et al.*, 2012). *Sordaria* and Sporormiella species are common fungus that grows on dung, decaying matter in soil (Suryanarayanan *et al.*, 1998). *Trichoderma* sp., *Penicillium* sp., isolated from the Antarctic moss *Bryum argenteum* (Bradner *et al.*, 2000). When compared with earliar reports in bryophytes mosses, the endophytic fungi were isolated in to classes of Ascomycetes, Coelomycetes, Hyphomycetes, and Zygomycetes from Victoria Land, Arctowski and Jubany on King George Island by Möller and Dreyfuss, 1996, Tosi *et al.*, 2002. On the reported of Thormann *et al* (2001) common saprobes are among Ascomycota: *Sporormiella* sp., *Sordaria* sp., Zygomycota: *Mortierella* sp., *Mucor* sp., Anamorphic fungi: *Cladosporium* sp., *Aspergillus* sp., *Botrytis* sp., etc.



Figure 2 Petri plates showing on endophytic fungi growing on DT- Bryophyte plant (bits) tissues

Table 1 Number of isolates, species and diversity index for endophytes fungi isolated from two bryophyte species

Sl.No	Details	Polytrichum commune	Ptychostomum capillare
1.	Total no. of species	28	26
	(Total species - 32)		
2.	Total no. of colonizes	49	46
3.	Fisher's Alpha - diversity index	27.15	24.76
Relati	ve Percentage of Occurrence (R	PO) of each group of fung	gal specie
4.	Ascomycetes	4 (13%)	3 (11%)
5.	Coeleomycetes	2 (6%)	1 (4%)
6.	Hyphomycetes	20 (63%)	17 (65%)
7.	Sterile forms	2 (6%)	2 (8%)
8.	Yeast forms	2 (6%)	2 (8%)
9.	Zygomycetes	2 (6%)	1 (4%)

4. Discussion

Most studies of fungal endophytes have focused on those species that live in vascular plants, but endophytes also live in nonvascular plants including bryophytes (mosses, liverworts, and hornworts), which are a functionally important in tropical and ecology of desiccation tolerance in bryophytes where they produce much of the biomass. A great phylogenetic diversity of endophytes was found in the tissues of mosses and liverworts in tropical forests (U'Ren *et al.*,

2010). Both soil bacteria and fungi include heterotrophic microorganisms that are capable of rapid activation upon wetup, although microbial communities have sometimes been shown to shift seasonally in water-limited systems (Clark *et al.*, 2009; Cruz-Martinez *et al.*, 2009).

No. of	Name of fungus	Polytrichum commu		Ptychostomum capillare					
Species (i)		Species count (ni) ni		(ni/N) ²	Speciescount (ni)	ni/N	(ni/N) ²		
	Ascomycetes								
1	Scopulariopsis sp. 1				1	2.2	0.04		
2	Sordaria fimicola	1	2	0.04					
3	Sporormiella intermedia	1	2	0.04	1	2.2	0.04		
4	Cheatomium sp. 1	3	6.1	0.12	1	2.2	0.04		
	Coeleomycetes								
5	Collectotrichum sp. 1	5	10	0.2	3	6.5	0.13		
6	Phoma sp. 1	1	2	0.04					
	Hyphomycetes			·					
7	Alternaria alternata	1	2	0.04	1	2.2	0.04		
8	Alternaria sp. 1	1	2	0.04					
9	Aspergillus flavus	4	8.2	0.16	5	11	0.22		
10	Aspergillus niger	3	6.1	0.12	2	4.3	0.09		
11	Aspergillus sp. 1	1	2	0.04	2	4.3	0.09		
12	Aspergillus sp. 2	1	2	0.04					
13	Aspergillus sp. 3				1	2.2	0.04		
14	Aureobasidium sp. 1	1	2	0.04					
15	<i>Botrytis</i> sp. 1	1	2	0.04	1	2.2	0.04		
16	Camarosporium sp. 1				1	2.2	0.04		
17	Cladosporium herbarum				3	6.5	0.13		
18	Curvularia lunata	1	2	0.04	1	2.2	0.04		
19	<i>Curvularia</i> sp. 1	1	2	0.04	2	4.3	0.09		
20	Drechslera sp . 1	1	2	0.04	1	2.2	0.04		
21	Fusarium oxysporum	5	10	0.2	4	8.7	0.17		
22	<i>Fusarium</i> sp. 1	1	2	0.04	2	4.3	0.09		
23	Nigrospora orzae	1	2	0.04	2	4.3	0.09		
24	Penicillium sp. 1	2	4.1	0.08	1	2.2	0.04		
25	Stachybotrys sp. 1	1	2	0.04	1	2.2	0.04		
26	Trichoderma aureoviride	3	6.1	0.12	2	4.3	0.09		
	Sterile forms					-			
27	Unknown fungi 1	2	4.1	0.08	2	4.3	0.09		

28	Unknown fungi 2	1	2	0.04	2	4.3	0.09			
	Yeast forms									
29	Yeast form 1	2	4.1	0.08	1	2.2	0.04			
30	Yeast form 2	1	2	0.04	1	2.2	0.04			
	Zygomycetes									
31	<i>Mortierella</i> sp. 1	1	2	0.04						
32	Mucor hiemalis	2	4.1	0.08	2	4.3	0.09			
Total no. of colonies		49	100	2	46	100	2			
Total no. of species		28			26					

There are 32 species and 49 individuals on *Polytrichum commune* and 46 individuals on *Ptychostomum capillare*, but are they equally diverse.

Note that Simpson's Index is often expressed (1-D), so the final answers are 2 and 2. This makes intuitive sense: a higher D is more diverse – which is *Polytrichum* because it is less dominated by one species.

Table 3 An endophytes fungus was isolated from DT-Bryophytes plants and calculates Shannon –Weiner Index and theEvenness Index for endophytes fungi

No. of Species (i)	Name of fungus	Polytrichum commune				Ptychostomum capillare			
		count (ni)	Pi	In(Pi)	Pi*In(Pi)	count (ni)	Pi	In(Pi)	Pi*In(Pi)
	Ascomycetes								
1	Scopulariopsis sp. 1					1	2.17	0.777	1.688106
2	Sordaria fimicola	1	2.04	0.713	1.455816				
3	Sporormiella intermedia	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
4	Cheatomium sp. 1	3	6.12	1.812	11.09365	1	2.17	0.777	1.688106
	Coeleomycetes								
5	Collectotrichum sp. 1	5	10.2	2.323	23.70192	3	6.52	1.875	12.22918
6	Phoma sp. 1	1	2.04	0.713	1.455816				
	Hyphomycetes								
7	Alternaria alternata	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
8	Alternaria sp. 1	1	2.04	0.713	1.455816				
9	Aspergillus flavus	4	8.16	2.1	17.13995	5	10.9	2.386	25.93442
10	Aspergillus niger	3	6.12	1.812	11.09365	2	4.35	1.47	6.389896
11	Aspergillus sp. 1	1	2.04	0.713	1.455816	2	4.35	1.47	6.389896
12	Aspergillus sp. 2	1	2.04	0.713	1.455816				
13	Aspergillus sp. 3					1	2.17	0.777	1.688106
14	Aureobasidium sp. 1	1	2.04	0.713	1.455816				
15	<i>Botrytis</i> sp. 1	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
16	Camarosporium sp. 1					1	2.17	0.777	1.688106

International J	ournal of Science	and Research Archive,	, 2022, (07(02), 200–209
-----------------	-------------------	-----------------------	-----------	-----------------

17	Cladosporium herbarum					3	6.52	1.875	12.22918
18	Curvularia lunata	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
19	<i>Curvularia</i> sp. 1	1	2.04	0.713	1.455816	2	4.35	1.47	6.389896
20	Drechslera sp . 1	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
21	Fusarium oxysporum	5	10.2	2.323	23.70192	4	8.7	2.163	18.80716
22	<i>Fusarium</i> sp. 1	1	2.04	0.713	1.455816	2	4.35	1.47	6.389896
23	Nigrospora orzae	1	2.04	0.713	1.455816	2	4.35	1.47	6.389896
24	Penicillium sp. 1	2	4.08	1.406	5.740804	1	2.17	0.777	1.688106
25	Stachybotrys sp. 1	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
26	Trichoderma aureoviride	3	6.12	1.812	11.09365	2	4.35	1.47	6.389896
	Sterile forms								
27	Unknown fungi 1	2	4.08	1.406	5.740804	2	4.35	1.47	6.389896
28	Unknown fungi 2	1	2.04	0.713	1.455816	2	4.35	1.47	6.389896
	Yeast forms								
29	Yeast form 1	2	4.08	1.406	5.740804	1	2.17	0.777	1.688106
30	Yeast form 2	1	2.04	0.713	1.455816	1	2.17	0.777	1.688106
	Zygomycetes								
31	<i>Mortierella</i> sp. 1	1	2.04	0.713	1.455816				
32	Mucor hiemalis	2	4.08	1.406	5.740804	2	4.35	1.47	6.389896
Total no. of colonies		49	100	30.64	146.99	46	100	31.6	148.6
Total no. of species		28				26			

Again, according to the Shannon – Weiner Index, *Ptychostomum capillarie* is more diverse.

Evenness Index, From above we know that H max is 148.6 (i.e. the highest of the Shannon – Weiner Index values).

The Evenness index for *Polytrichum commune* is J=H/H max = 146.9/148.6 = 0.988.

The Evenness index for *Ptychostomum capillarie* is J=H/H max = 148.6/148.6 = 1.



Figure 3 Relative Percentage Occurrence (RPO) of endophytes belonging to different groups of fungi in two different hosts

In our study was based on isolated dried - up bryophytes plant fungal endophytes has been done location around open lands, wall during a few months of the winter season of the region. Thus, we found that the most widespread soil and

airborne fungi were also the almost all frequent namely, *Alternaria, Aspergillus, Cladosporium, Curvularia, Fusarium, Penicillium* were isolated (Table 2 and 3). This suggests that in cause of the above season of variation, these fungal species are ubiquitous in the Earth's atmosphere. *Aspergillus* and *Penicillium* spores have been shown to occur commonly in soil and air samples (Mitchell *et al.*, 2016; Umesha *et al.*, 2016). The Colonization Frequency (CF %) of the two bryophyte species by endophytic fungi were low frequency (below 50%) in the present study. Nevertheless, the endophytic fungi of *Colletotrichum* and *Phoma* species were very common isolate in this study, and they have been reported as the dominant fungal endophytes of various plant species from diverse environments (Suryanarayanan *et al.*, 2007). The results indicated that environmental condition is one of the most important factors affecting endophytes composition, especially the dominant endophytes. Hence, here isolated clusters can be seen as such. Some bryophytes species are amid the first to colonies open ground in very short period of life, which are lower in disturbed habitats because there is less shade.

Some authors have demonstrated that fungal endophytes community may be influenced by diverse biotic and abiotic factors, such as the type of plant tissues; a heterogeneous profile of microhabitats; and different substrates, climate and vegetation changes (Koide *et al.*, 2017; Shen *et al.*, 2007). Soil, airborne fungal spore concentrations and their diversity vary with the season of the year, geographical region, soil, air, meteorological parameters, presence of local resources, and vegetation.

A few fungi that failed to sporulation were designated as "mycelia sterile", can be become identified later with different incubation such as sporulation in UV, so for colony characteristics, the mycelia were transferred into PDA agar media.

The results show that the colonization frequency of fungal diversity analysis of two samples of bryophyte species, that there is no differences fungal diversity and that lower frequencies were observed.

5. Conclusion

In this study, bryophyte plant species of host plant were found to be least colonized by endophytes. We assumed that they grow only in wet conditions and short periods of life; the distribution of fungi varied with that ecological condition. Even so the endophytic fungi may be accumulated in least amount of DT-Bryophyte plants. These hosts were found true fungi and much diversity of endophytes. Whatever, these endophyte fungi were isolated in the bryophyte plant tissues are usual present. Endophytic fungi may be rich sources of bioactive natural products that can be used to make someone value of pharmaceutical, medicinal, agriculture and industries.

Compliance with ethical standards

Acknowledgments

The authors are grateful thanks to the staff of Department of Botany, M. R. Government Arts College, Mannargudi, TN. The author dedicates this paper to the researcher and Mycologists. The author sincerely thanks the editor and reviewers in this manuscript observed.

Disclosure of conflict of interest

No conflict of interest.

References

- [1] Arnold A.E, Maynard Z, Gilbert G, Coley P and Kursar T. 2000. Are Tropical Fungal Endopphytes Hyperdiverse? Ecol. Lett, 3: 267-274.
- [2] Bailey A.D and Wynn-Williams D.D. 1982. Soil microbiological studies at Signy Island, South Orkney Island. Br Antarct Surv Bull, 51: 167—191.
- [3] Bills G.F and Polishook JD. 1992. Recovery of endophytic fungi from Chamaecyparis thyoides. Sydowia, 44: 1-12.
- [4] Bradner J.R, Sidhu R.K, Yee B, Skotnicki M.L, Selkirk P.M and Nevalainen K.M.H. 2000. A new microfungal isolate, Embellisia sp., associated with the Antarctic moss Bryum argenteum. Polar Biol, 23: 730-732.
- [5] Boyd W.L, Staley J.T and Boyd J.W. 1966. Ecology of soil microorganisms of Antarctica. Antarct Res, 8: 125-159.

- [6] Clark J.S, Campbell J.H, Grizzle H, Acosta-Martinez V and Zak J. C. 2009. Soil microbial community response to drought and precipitation variability in the Chihuahuan Desert. Microb Ecol, 57: 248–260.
- [7] Cruz-Martinez K, Suttle K.B, Brodie E.L, Power M.E, Andersen G.L and Banfield J.F. 2009. Despite strong seasonal responses, soil microbial consortia are more resilient to long-term changes in rainfall than overlying grassland. ISME J, 3: 738-744.
- [8] Davis E.C and Shaw A.J. 2008. Biogeographic and phylogenetic patterns in diversity of liverwort- associated endophytes. American J Bot, 95: 914–924.
- [9] Davis E.C, Franklin J.B, Shaw A.J and Vilgalys R. 2003. Endophytic Xylaria (Xylariaceae) among liverworts and angiosperms: Phylogenetics, distribution, and symbiosis. American J Bot, 90: 1661–1667.
- [10] Davey M. L and Currah R.S. 2006. Interactions between mosses (Bryophyta) and fungi. Can J Bot, 84: 1509-1519.
- [11] Döbbeler P.1997. Biodiversity of bryophilous ascomycetes. Biodivers Conserv, 6: 721-738.
- [12] Ellis L.T. 1989. A taxonomic revision of Calymperes in southern India & neighbouring Islands. Journal of Bryology, 15: 697-732.
- [13] Garland T and Kelly S.A. 2006. Phenotypic plasticity and experimental evolution. J. Exp. Biol, 209: 2344-2361.
- [14] Grasso S.J.M and Scheirer D.C. 1981. Scanning electron microscopic observations of a moss-fungus association. Bryologist, 84(3): 348 -350.
- [15] Hassegawa R.H, Fonseca H, Luiz Fancelli A, da Silva V.N, Eliana Schammass A and Corrêa B. 2008. Influence of macro- and micronutrient fertilization on fungal contamination and fumonisin production in corn grains. Food control. 36-43.
- K. 1995. [16] Hata К and Futai Endophytic fungi associated with healthy needles pine needles infested Thecodiplosis and by the pine needles gall midge, japonesis. Canadian Journal of Botany, 73: 384-390.
- [17] Hata K and Sone K. 2008. Isolation of Endophytes from Leaves of Neolitsea sericea in Broad leaf and Conifer Stands. Mycoscience, 49: 229-232.
- [18] Li H, Xiao J, Gao Y.Q, Tang J.J, Zhang A.L and Gao J.M. 2014. Chaetoglobosins from, Chaetomium globosum an endophytic fungus in, and their phytotoxic and cytotoxic activities. Journal of Agricultural and Food Chemistry, 62: 3734-3741.
- [19] Kauserud H, Mathiesen C and Ohlson M. 2008. High diversity of fungi associated with living parts of boreal forest bryophytes. Botany, 86: 1326–1333.
- [20] Koide R.T, Ricks K.D and Davis E.R. 2017. Climate and dispersal influence the structure of leaf fungal endophyte communities of Quercus gambelii in the eastern Great Basin, USA. Fungal Ecology, 30: 19-28.
- [21] Minerdi D, Moretti M, Gilardi G, Barberio C, Gullino M and Garibaldi A. 2008. Bacterial ectosymbionts and virulence silencing in a Fasarium oxysporum strain. Environ Microbiol, 10: 1725-1741.
- [22] Mitchell N, Bowers E, Hurburgh C and Wu F. 2016. Potential economic losses to the USA corn industry from aflatoxin contamination. Food Addit. Contam,. 33: 540–550.
- [23] Möller C and Dreyfuss M.M. 1996. Microfungi from Antarctic lichens, mosses and vascular plants. Micologia, 88(6): 922-933.
- [24] Murali T.S, Suryanarayanan T.S and Venkatesan G. 2007. Fungal endophytes communities in two tropical forest of southern India: diversity and host affiliation. Mycol Prog, 6: 191–199.
- [25] Nisa H, Kamili A.N, Nawchoo I.A, Shafi S, Shameem N and Bandh S.A. 2015. Fungal Endophytes as Prolific Source of Phytochemicals and Other Bioactive Natural Products: A Review. Microb. Pathog. 82: 50-59.
- [26] Panaccione D.G, Beaulieu W.T and Cook D. 2014. Bioactive Alkaloids in Vertically Transmitted Fungal Endophytes. Funct. Ecol, 28: 299-314.
- [27] Petrini O, Fisher P.J and Petrini L.E. 1992. Fungal Endophyte of Bracken (Pteridium aquilinum) with Some Reflections on Their Use in Biological Control. Sydowia, 44: 282-293.
- [28] Pigliucci M, Murren C.J and Schlichting C.D. 2006. Phenotypic plasticity and evolution by genetic assimilation. J. Exp. Biol, 209: 2362–2367.

- [29] Pirttilä A.M, Podolich O, Koskimäki J.J, Hohtola E and Hohtola A. 2008. Role of Origin and Endophyte Infection in Browning of Bud-Derived Tissue Cultures of Scots Pine (Pinus sylvestris L.). Plant Cell Tissue Organ Cult, 95: 47-55.
- [30] Pugh G.J.F and Allsopp D. 1982. Microfungi on Signy Island, South Orkney Islands. Br Antarct Surv Bull, 21: 79-94.
- [31] Raviraja N.S, Sridhar K.R and Barlocher F.1996. Endophytic Aquatic Hyphomycetes of Roots of Plantation Crops and Ferns from India. Sydowia, 48: 152-160.
- [32] Ruisi S, Barreca D, Selbmann L, Zucconi L and Onofri S. 2007. Fungi in Antarctica. Rev Environ Sci Biotechnol, 6:127-141.
- [33] Simpson E.H. 1949. Measurement of diversity. Nature, 163: 688.
- [34] Smith C.S, Chand T, Harris R.F and Andrews J.H. 1989. Colonization of a Submersed Aquatic Plant, Eurasian Water Milfoil (Myriophyllum spicatum), by Fungi under Controlled Conditions. Appl. Environ. Microbiol, 55: 2326-2332.
- [35] Shen H.D, Tam M.F, Tang R.B and Chou H. 2007. Aspergillus and Penicillium allergens: focus on proteases, Current Allergy and Asthma Reports. Journal of Allergy and Clinical Immunology 7(5): 351-356.
- [36] Suryanarayanan T.S, Kumaresan V and Johnson J.A. 1998. Foliar fungal endophytes from two species of the mangrove Rhizophora. Can J Microbiol, 44:1003–1006.
- [37] Suryanarayanan T.S, Murali T.S and Venkatesan G. 2002. Occurrence and distribution of fungal endophytes in tropical forest across a rainfall gradient. Can J Bot, 80: 818–826.
- [38] Suryanarayanan T.S, Murali T.S, Thirunavukkarasu N, Rajulu M.B.G, Venkatesan G and Sukumar R. 2011 Endophytic fungal communities in woody perennials of three tropical forest types of the Western Ghats, southern India. Biodivers Conserv, 20: 913-928.
- [39] Thormann M.N, Currah R.S and Baylay S.E. 2001. Microfungi isolated from Sphagnam fuscum from a southern boreal bog in Alberta, Canada. Bryologist, 104: 548-559.
- [40] Tosi S, Casado B, Gerdol R and Caretta G. 2002 Fungi isolated from Antarctic mosses. Polar Biol, 25: 262-268.
- [41] Umesha S, Manukumar H.M, Chandrasekhar B, Shivakumara P, Shiva Kumar J and Raghava S. 2016. Aflatoxins and food pathogens: impact of biologically active aflatoxins and their control strategies. J. Sci. Food Agric, 97: 1698–1707.
- [42] U'Ren J, Lutzoni F, Miadlikowska J and Arnold A.E. 2010. Community analysis reveals close affinities between endophytic and endolichenic fungi in mosses and lichens. Microb Ecol, 60: 340–353.
- [43] Venkatesan G and Ramesh Kumar J. 2021. Diversity of endophytes fungi assemblages in an aquatic eel weeds plant of Vallisneria spiralis L. International Journal of Life Sciences. 8(2): 299-307.
- [44] Venkatesan G and Sharavanan P.S. 2022. Diversity of endophytic fungi associated with Bark tissues in importance medicinal plants from Delta Region of Tamil Nadu. World Journal of Pharmaceutical and Life Sciences. 8 (10): 63-69.
- [45] Venkatesan G. 2013. Studies on fungal endophyte assemblages in seed coat, embryo with endosperm, young, mature, senescent leaves of Jatropha curcas L. (Biodiesel) plant in Tamil Nadu, Southern India. International Journal of Research in Engineering and Bioscience, 1(3): 28- 39.
- [46] Warcup J.H. 1950. The soil pate method for isolation of fungi soil. Nature, Lord.166:117-118.
- [47] Wilson D. 1995. Endophyte: the evolution of a term, and clarification of its use and definition. Oikos, 73: 274–276.